H7)ol M K5 Szt

[e]
A&

)

- A

el

™
o
‘_u_mo

olJ
o

~,
L,
__OO

Nfo

ojn

H7]

O F 4534

® F HAA

ull
KO

A

ull
KO




ol
o8

—

2 =gy

JdFoA AABC &+ ADEF 7} &

o
=

=

OE AH AABC O ADEF 2 et &=

__OL
HK
el

Ton

ol
S
Al

@ HSH7F1:1 o2




L,
__OO

op

‘_._m_o
A
;e

iy

—_—

i
,_OH

©




4. 2 o)A AABC O ADEF o]t} the & 27 ¢
1= (A 27H)

oS
rlo
sl
filo
H
n

@ A C ol tgshe A2 4 F ol

@AABC O ADEF o|B 2
AABC = ADEF o|th,

® AB °f -§5h= ¥ DE ©|th.
@ AB: DE=5 : 3 o[tk
@G)BC: DF =5 : 3 oItk

@ SH=olztaldA Yo7t A= ¢t
®AC: DF=5 : 3




5. e aeA
B0l g

© F&Hl=2:1 0t
@ == 3:4 ot

@ W VABe] t-&oh= W2 W VAR o]t

® 9,0 6 ® 6,0 ® ® 06 6
@a.@ 0 6 © e 0
© 9 VBCof| ti-&st= |2 | V/B'C’ oth




6.

o g7 = L=
& IdoA & 9752 A2 G2 Eo|th. F 759

259 Aole] ulg Fohw?

D 1:1 @ 1:2 @ 1:3 @®)2:3

® 1:




1687 cm?

> HEh

Bl

e
1jo

=

il
o
H

mjn

21 X = = 14(cm)

9X§:6(cm),h

1687(cm?)

2nrh = 2r X 6 X 14 =




E]- =
BO ¢ ®, ‘A = /MDA A
S 2@ 2o F ATk
[ ] el g2 g R &0
=7
%
AAOC 2} ADOB ©J| 4]
A0:D0O=C0:BO=[D]:
(AOC =@ | (- B EA|ZH olB=
AAOC[@ ADOB (B ] &5)
w2bA] LA = /D o]t
@1 @ 2 ® /DOB
@ o © S

~&B

AAOC 9} ADOB ©f|A]

AO: DO=A0O: 2A0=1 : 2,
CO: BO=CO: 2CO=1 : 2
/AOC = /DOB (%% 22}

.. AAOC 2 ADOB (SAS &)
S LA =1/D




9. o 1Yol AC] ZolE 5tH? (&, CD = 6em )

@ 4em @ 6cm ® 8cm @ 10cm @12(:111

~&B

BC:BD=8:4=2:1,BA:BC=16:8=2:1, /B&
s ek

AABC 2 ACBD (SAS B-3)

AB:CB=AC:CD

16 :8=x:6

"




10. ©F& I1"H)A /ABC = /CDEY 1ff, CE 9] Zo]x?

@ 5cm @)5.5cm ® 6cm
@ 6.5cm ® 7cm

~&B

AABC €} AEDC ©f| A
AB:DE=10:5=2:1
BC:DC=12:6=2:1
/B=/D

. AABC @ AEDC (SAS &)
AC:CE=2:10]2&
11:CE=2:1

. CE = 5.5(cm)




AABC @ ADFE(AAH )
AB : DF= AC :DE
AB:a=6:9

9@:6{1,@2%(1




12. oS oA x o] Zo]=9

@ Tcm @ Sem

® 12cm

-

[whN

g

~4cem-~

Qoo

AABC @ ACBD(AAH )
BC :AC =CD :BC
4:(x+2)=2:4

SoX = 6(Cm)




13. o2 a4 A = /DEC ©|11 AD
2¢cm , CD = 4cm , CE = 3cm € T, x
Zdol=?

o

A

@ 4cm @ 4.5cm @50111

@ 5.5cm ® 6cm

B

(C 7} ZE0|11, /A = /DEC o|B2
AABC @ AEDC o]t}

HaH72: 1028

2:1=BC:4

BC = 8(cm)

. x=BE=8-3=5(cm)




14. o3 2"HNA x+y o] 3F2?

@15 @ 16 ® 17 @ 18 ® 19

ADEC ¢} AABC 94 /CE= F5,

/A = /DEC ©]|2 2 ADEC @ ABAC
EC:CD=AC:BC,4:5=y:159|2& y=12
T3 DE:BA=EC:AC,x:9=4:12

x=3 Lx+y=15




15. o= &AM x o gh2?

N =
®
N w
©)
N | Ut
1)
w

B

AABC ¢} AAED oA /A = 35,
/ACB = /ADE = 90° 0|2 &
AABC @ AAED (AA )
AC:AD =BC:ED
(5+x):4=6:3
3(5+x)=24
54+x=8 SoX

|
w




16. thg 2%elA DE®| Zolg F5ha?

AC:CD=7:14=1:2
BC:CE=6:12=1:2

/ACB = /DCE (- ¥&2]7})

. AABC & ADEC

et AB:DE=1:2=10:x, x = 20 ©|c}.




@ it @ 1% ® 2%

@3%}

® 4%

AABC ©2aPQR (SAS &)
ADEF 0AHIG (AA BS)
AKJL ¢0AONM (SSS &)




QA O © G
\ -
>
B RETae ~6cm- I
J
®/@°/11<(%’\ @;cm—;
K=—120 I N0 0
--6cm- -~
®© 9-0 ® ©e-© ®e-0
@) -6 ® 0-6

@HG:NO=IH:MN =1:2, /IHG = /MNO©°|E2&
AHIG @2 ANMO (SASE-S) o]t}




19. o2 IHNA AB=6,CD=9,DE = 12 & o], x ] 327

® 2 @ 4 @6  @s ® 10

/BAC + /BCA = 90°, /BCA + /ECD = 90°
/ECD + /CED = 90° °|2&

/BCA = /CED, /tBAC = /DCE

. AABC ACDE (AA E2)
AB:CD=6:9=2:30|BE& x:12=2:3
T x=28




20. o3 I1"oA AABC o0 ADEF ©]1, H5H|7} 3 : 2 & o, AABC
o} =d|9] ZolE Fstolet.

>
> A 36cm

AABC : ADEF =3:2 0|E 2
AB:DE=15:[ |=3:2

DE = 10cm
ﬁ:ﬁ:\:‘:6=3:2
BC =9cm
A_C:ﬁ:D:8:3:2
AC=12cm

w2 AABC 9] =89 Zol=15+9+ 12
wr2bA] 36 cm ©] T




